LY ®
(G FLYCOLOR
BEMIATR | AFERDREX , BIROEATRSEASGEMRBRIA , BARNSEERRERN
FRBEARRBBIHRT , FERETAENREER. RNNKERERFRREE =R T8ENS|
BIEARE , SEERRTYIEFRASERREANBESRE. ROENERLBNNER TEE~RN
Rit. SR, HEREREREK.
01 ==6H
o SMEZR<F36x36mm , £IERF30.5x30.5mm , ®3mm ;
e EH :9.5g;
o TYEEBIE : 7-16V(H2-4SIBRBIHEE) ;
ofEFIARM Cortex MAIZAISTM32F303A94bIERE , TIFMMEBIA72MHz ; AEFREESTT , ¥TiEtEHEEE
TEK
° S7IEPPM, PWM, SBUSEZ R FimE/#EKEs ;
o WIREEROSD ; M5V, 12V LIREIMEE(VBAT)EH | SELERE. Bk, BIS88. LEDITEIMIME ;
o ARBYITARRAERNED , IERELYRBIERSE  SEAFRENRERR ;
o WIEBISUSBIEREEB , T FHREN  BIEEE | TEXHFOneShot BIF , APIDSHIBTIRMFIH S |
o REEHESCHRIRAGBESLE VENNNESIRE | IREHRIUE .,
02 =RMmE

s TFEBIE HE(E®) RIWe=)
FK-D1D1 7-16VEk2-4 SHRFEhER [F 9.5g 36x36x7.5mm

O3 eHids/2ERY

Fs bi:a HE

KiTiZHRS
RLERE

Raptor390 Tower F3 FC

RAPTOR

Flight Controller

RERT(mm)

HEFBUEEMAFIycolor IEB390MNE—FRIE , RECEREH, e

1 IZE390 Tower F3k§E 1 36
. L
2 BIETIEHE M3*5+6 4 [T =t
3 | BREsms 4 }E D §L
wv =
4 | BB MIt2 4 g H Dj[g R

TOEERIMRRT

—1R10PinZ3R (10P SH1.0i%F ) , BFPWMED ;
—1R3PinE (10P SH1.08F ) , AFPPMEO
—HR3PINZEER (4P SH1.0F ) , BFSBUSEN ;
—HR4PINZIR(4P SH1.0i%F) , ATEEED ;
—IR3PINZIR (3P SH1.0i%F ) , AFE&LED:
—1iR6PiINZR(6p SH1.08%F) , AFLEDR NSRS,

04 zgreE

E3jthv+

FBthV-

GND

9]

.‘
1#
2
3
5]
=
%

BRIEEE | FRUSNE

® VBAT, GNDIRSIRBERERET—A , L RME |

1 o S1-S4iR% , AFBEIRFRANABESE |

o FTEIRRERRIFRIREEA |, EARBEEER
RIS TIE AT LA Z IB5EEE

o B RRRINRA  ERRERLBERYT |
o EHE RIS VBRI ERIEREIER |

05 ¥R RiELTEE

®iz
SBUS &=
Buzzer|
o w SBUS 5 o
& o 2—|5v | sl
i D b 1| GND LED
CHs 5v LED
CH7 9 & D GND
mg@«g o 0 ]
| — 12V N
3]:— 12v it
ISP etk —] u e B up
00000 .
O Uloonoo O
iz
FHRKIZE MRS , BHEBOOT N
PPM &=
Buzze
= T Jan
| o 5] —
w&wg o ;
i, 3 IEE it E |
ISP RO — e [BBE
00ooo S
O UUppono O
E@ i
FHRCIEE R , FEBOOT PWM *Eit
GNDI—1 O = 4 TRX
5V 72\ D - Buzze:
};Vq‘;z": i 7§§ . ,g oy | aps Eivii JO
I crire=—= B I I A
iy o (] 0 [ weo
— GND
by o CH7]—9
o] ] Eﬂiﬁ ‘
ISP eima— —Lono Eik :!ﬁ:;
s [2
gooooo s
O [OUgppoo O

06 iz5=Em

o TICEARHR I TR , B2 —EERENE.
oTERRIR A E MTAEER | EXARIR

oM AREE—VCC FAREEER A LAEIR.

o GIZFIRAtEE R LU R it E E SRS 5 FBAR L.

o REBGND, VCCZBERMERE  XHRBIRE (181 ) .

o REBGND, VCCEAFIMARERMLES.
AEEMASFRHEORAFECHBAREDHED | BRIFEHER.
o5V 12VREEAFRINFRIEH (5VERATA, 12VEREK500mA)

o WIEEITE MM,

o T LAY — RS B R BB SR , RINEE/ BRI RMNRERE.

KiTiEHIRE

Sok ¢ FLYCOLOR

www.flycolor.net



¢ FLYCOLOR"

Thank you for purchasing our product. Any Improper operation may cause personal injury damage to the
product and related equipments. This high power system for RC model can be dangerous ,we strongly
recommend reading the user manual carefully and completely. We will not assume any responsibility for any
losses caused by unauthorized modifications to our product. We have the right to change the design,
appearance, performance and usage requirements of the product without notice.

O1 Main features

® Size:36x36x7.5mm; install dimension:30.5x30.5mm,®3mm
o Wieght : 9.5¢;
e Operating Voltage: 7-16V (or 2-4S LiPoVBAT ) ;

o STM32F3 Processor with hardware floating point unit for efficient flight calculations and faster ARM-Cortex M4

core. Operation frequence up to 72MHz.
e Supports SBUS,PPM,PWM etc. receivers.

e FCintegrated OSD, also integrated 5V, 12V, and battery voltage (VBAT) output, Easy power supply to Image

transmitter, camera, buzzer, LED and other peripheral ;

e Only keep very simple connectors for flight, provides all kind of cables for connectors on FC , to give you an unprecedented experience of installation;

Flight Controller

Rapto

User Manual

r390 Tower F3 FC

RAPTOR

Flight Controller

o Update the FC firmware by connect computer via USB. Full support for OneShot ESCs for easy PID tuning and a sharper response.

o Only need to connect the single signal wires to the pads on the flight controller PCB, easy to connect.

02 Specification

Model Operating Voltage ( Forvrveefgrgtnce )
FK-D1D1 7-16V Or 2-4S LiPo VBAT 9.5g

O3 Part list/ Install Dimensions

Item Description Qty.

1 Raptor390 Tower F3 1
Flight Controller

2 Nylon spacer M3*5+6 4

3 Nylon Nut M3 4

4 Nylon screw M3*12 4

Recommend Flycolor Raptor390 4in1 ESC. Assembly
will be more simple.

Frame
The Flight Controller additional provide : (for reference
One 10p cable (10-pin SH1.0 terminal) for PWM
connector;
One 3p cable (10-pin SH1.0 terminal)for PPM connector;
One 3p cable (4-pin SH1.0 terminal)for SBUS connector;
One 4p cable (4-pin SH1.0 terminal)for Image transmitter;
One 3p cable (3-pin SH1.0 terminal)for Camera;
One 6p cable (6-pin SH1.0 terminal)for LED and Buzzer.

04 Wiring Diagram

Battery V+ Battery V-

Size

( Forreference)

36x36x7.5mm

Install Dimensions(mm)

36

30.5
“w“*w‘
-
%D%
[
36

*All pictures are for reference only

05 Receiver modes & Connect method

TOP SBUS Mode

Bridged “BOOT"
for recovering firmware

Image VBAT+
lransmitlergND

oo £
programming

0oooo
O DDDDDDD O

BOTTOM

Bridged “BOOT" PPM Mode
for recovering firmware
1— oo
2— 2
53— i
&
D
e
D BAT-
ISP | Image BATH
programming transmitterGND
0oooo s
O Uopoon )

TOP PWM Mode

Bridged “BOOT”
for recovering firmware

GN
s
PWM onp
N CH2[—4T~2) v
Receiver| —5——] cht
cie— E&
GH5 —7——| és
CHo &
&
%08
D N IVBAT-
Image  |[VBATH
programming transmitterGND
0oooo s

O poooo O

OB Attention

e Observe polarity at all times. Check and double check before applying power.
e Power off before unplugging ,plugging in or making any connections.

e Connect only one source of power to the VCC pins. Do not connect more than one source of power to two or more of the VCC pins.

o The flight controller can be powered by battery or additional PDB.

o Do not connected GND, VCC to each other (short circuit).

o Do not connect GND, VCC to any inputs or outputs unless specifically stated.

e Do not connect any input or output to any other input or output unless specifically stated.

GND S1 S2 S3 S4

11 0=
J

4# ESC white signal wire
3# ESC white signal wire
———2# ESC white signal wire
1# ESC white signal wire

pads to battery, power supply the FC.

to S1-S4 pads.

avoided at any time.
with heat shrink where necessary.

before power up.

 Please ensure all solder joints are insulated

o Please double-check the polarity is correct

® Only need to connect any one group of VBAT, GND
e Only need to connect the white signal wires on ESC

eAll welding requires good welding technology, short
circuit between the element or the wire should be

® 5V ,12Vsupply is for low-current use only(5V 1A MAX, 12V 500mA MAX).
o Keep magnets away from the Flight Controller.
e Do everything you can to prevent vibrations.

User Manual
Flight Controller

¢ FLYCOLOR"

www.flycolor.net

251400-1060,V 1.0



	页 1
	页 2

